;> # 3.3 Application: y*(4) + 2y~ (3)+ 3y =0
> de:=diff(y(x),x,x,x,x)+2*diff(y(x),x,x,x)+3*y(x)=0;

d' &
] de:=§y(x)+2[gy(x)j+3y(x)=0 @
[> dsolve(de,y(x));
4
y(x) _ z eRootOf(_Z4 —|—2_Z3 +3, index=_a)x_c . (2)
a=1 -

> evalf(%);
_(0.6050434043 + 0.83507866871) x (~1.605043404 + 0.49485903861) x
(x) =e _C,te

yix _Cz 3)

-1.605043404 — 0.49485903861 0.6050434043 — 0.8350786687 I
( Yoyt * ¢,

+e

> # Complex roots: .6050434043 \pm .8350786687*1
> # Complex roots: -1.605043404 \pm .4948590386*I
> # What are the Euler solution atoms for this equation?




